Route 111 thomas Nelson Community College / Patrick Henry Mall
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w - Weekday only
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WEEKDAY & SATURDAY: WEEKDAY & SATURDAY:

From Thomas Nelson Community College to From Patrick Henry Mall to
Patrick Henry Mall Thomas Nelson Community College
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6:54w 7:05w 7:24w 7:41w 7:00 7:17 7:36 7:46
7:53 8:05 8:24 8:41 8:00 8:17 8:36 8:46
8:53 9:05 9:24 9:41 9:00 9:17 9:36 9:46
9:53 10:05 10:24 10:41 10:00 10:17 10:36 10:46
10:53 11:05 11:24 11:41 11:00 11:17 11:36 11:46
11:53 12:05 12:24 12:41 12:00 12:17 12:36 12:46
12:53 1:05 1:24 1:41 1:00 1:17 1:36 1:46
1:55 2:07 2:26 2:43 2:00 2:17 2:36 2:46
2:55 3:07 3:26 3:43 3:00 3:17 3:38 3:49
3:55 4:07 4:26 4:43 4:00 4:17 4:38 4:49
4:55 5:07 5:26 5:43 5:00 5:17 5:38 5:49
5:55 6:07 6:26 6:43 6:00 6:17 6:37 6:52
6:55 7:07 7:26 7:43 7:00 7:15 7:33 7:48
7:55 8:06 8:24 8:40 8:00 8:15 8:33 8:48
8:59 9:09 9:24 9:39 9:00 9:15 9:33 9:48
9:59 10:09 10:24 10:39 10:00w 10:15w 10:33w 10:48w

SUNDAY: SUNDAY:

From Thomas Nelson Community College to From Patrick Henry Mall to
Patrick Henry Mall Thomas Nelson Community College
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7:50 8:01 8:16 8:31 9:00 9:15 9:33 9:43
8:50 9:01 9:16 9:31 10:00 10:15 10:33 10:43
9:50 10:01 10:16 10:31 11:00 11:15 11:33 11:43
10:50 11:01 11:16 11:31 12:00 12:15 12:33 12:43
11:50 12:01 12:16 12:31 1:00 1:15 1:33 1:43
12:50 1:01 1:16 1:31 2:00 2:15 2:33 2:43
1:50 2:01 2:16 2:31 3:00 3:15 3:33 3:43
2:50 3:01 3:16 3:31 4:00 4:15 4:33 4:43
3:50 4:01 4:16 4:31 5:00 5:15 5:33 5:43
4:50 5:01 5:16 5:31 6:00 6:15 6:33 6:43
5:50 6:01 6:16 6:31
6:50 7:01 7:16 7:31
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